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24 _ | FE

=s Ao Z R 1% A —h— ==Xy =
1 |(FEnERE(I > X &7 500¢g = B @ | 14
2 | 7FF b HRL% 1% 100g FrR77—~| % | 2
3 |7F%biRlmg (PTP)10%E x 10 FR77—<| 58 | 2
A \TOT7FLoY—L1% 1% 10g x 104 RIRBUHE 78| 6
5 |72 b EE3% 3% Fa-7" 30g X 1A <)Lk B/l 9
6 |77 kb7 Y, /)74 Bl o1
7 |7y ELERA0% T T A ] 40% 100g RFABIEE a1
8 |7 obLSEETA250mel Y74 ] |250mg 10A RFFBIEE a1
10 [7EL > RFE100ug 100 g 2mL 10V |BEAREIER | 6
11 |7 R/X5H YU T LEBO0% 50% 500g =70 @ | 3
12 |7 ZA/%ZHY 7 L§E300mg PTP10%E x 10 -7 |1
13 |72/ H U7 L3E10mEq 17.12% 10mL 10A |=7'O Bl o9
14 |72 v [RT A &7 500g JaTbhyzemEl Fgo| 1
15 |7 AN »E#10% 10% 100g —7A Bl 2
16 |[72~RY v oy 70.5% 0.5% 500mL =70 w1
17 |7 X 0% Y 5EHR2.5% 0.6g 1404 FHalE Bl o2
18 |7 b7/ 7 lIGIRE 500g AEvzxUvs| F | 1
19 |7tV FEFE&RIO00mMg /Ny &7 1000mg 100mL 20%& |7 L€ Bl 9
20 | 7R v R-PHhFHIL25mg (PTP)I0A 7 x10|77A4H— | F | 3
21 |7 & Z v 7 ZR-PEFH®R(25mg/mL)  [2.5% 1mL 10A 7r7AY— | BB | 2
22 | 72Ty 7 R-PRZA4 >0y 725% |2.5% 500¢g FAY— | @ | 2
24 |7 —F 8% 1% 100g 74— B | 1
25 |7 —F »$E(2mg) (PTP)10%E x 100 TAY— | & | 1
26 |7 FHRR-La—"73F20mg 20mg 2mL 50A LA Bl 2
27 |77 H 20— 758k10% /X5100g LA a1
28 |7 K= 71007 « X H X600 AFH 607" JA%- 1%yk vo7vazarsay | |2
30 |7 K #ﬁﬁzlo% 10% 100g —7'A B |
31 |77 N E(B#ARFE)25mg 25mg 5mL 10A =—7n w1 3
2 |7 rAE Y ARELI%(ES) 1% 5mL 103k o—rt=vrr| 5 | 1
33 |7 A UEERIEF0.5mgl 7Y —] [0.5mg 1mL 10A BREERTHE| 8 | 3
34 |7+ 77 =—)LEEl0mg 10mg 300T Ly rr—~| Fg | 2
35 |7+ 77 =—I)LiEl0mg 10mg 1200Tn 7 ALy T r—%| FG 1
36 |7F <=4 F2mg/mL 0.2% 10mL 10A Ho R Bl o2
37 |7+ ~<_A > ET.5mg/mL 0.75% 10mL 10A |¥ >~ F fa | 1
38 | 7F A iE2mg/mL 0.2% 100mL 1%  [¥> R 8 | 15
40 |7~ —IL3mgiE 3mg 100T Y/ 74 | 1
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244 _ o | FE
=2 Ao Z R 1% A —h— ==Xy 5B
41 |7 2 h Y RBIEESIR1I00mgI SW] [100mglE x 108 [RFEEK 8| 8
42 |7 241 »F200mg 10% 2mL 10A e e I - |
BN\ TIT74—YFhT7wNL24ug 24 11 g 100C T4 bURME| FH | 3
A |7 I FH R0 EEEETE150mgl TE] [150mg/3mL 10A  |r—7z43—| 8 | 1
45 |7 24 &0 v iERIEEFR$E100megl TE] [1008E PTP h—7xqa—| F8 | 1
46 |73/ 741 »ET250mgPBl B [250mg 10mL 50A |H#aus a1
47 |7 LB Y E0ODsE5mg NP 5mg PTP10§Ex10 |= /O /| 3
48 |7 LB E0ODEES Mg NP 5mg /N 7500T =70 !
49 |7V F I UFI0E 10mg 2mL 50A RAESRTE| 78 | 1
50 | 77U F I U FHERSE(25mg) 25mg 100T REERTE| fF | 1
51 |77LF = > SamErE30glAY ] 10% 300mL 2B s B 2
52 |T7ILF X — b SUEEREL0% 10% 200mL 30B EFAZ77—< | 58 | 1
53 |7 LY IL T UHRKI90% 90% 500g HET @ | 1
54 7K 2 kv AMKI10% 10% 100g 7r7AY— | B | 3
55 | 77ILX U k> ASE25mg 25mg PTP10$Ex 10| 7 74— | #8 | 5
57 |7V F /g ER2mg 2mg bV vrerzy—<| %8 | 15
58 |77 7a—LATwilug 1ug 100C A\ SR a1
59 |77 7a—LBlug/s 1ug/g0.25g 1204 |rh4fHuER B o2
60 |77 7O—LBlug/s 1ug/g 0.5g 1204 |4 suse | 6
61 |77 7O0—LE1lug/s lug/g /x5100g |Hslsise | 23
62 |ERIm7 /L7 I > 5%8%£5g/100mL[JB] [5% 100mL 1V AAmEREEE| 78 1
63 |BrIM 7L 7 2 > 20%E%£10g/50mLIJB][20% 50mL 1V AAmREEEE| 5§ | 12
64 |7r7axssnTLT 7o R EEHER0ue 2541|500 4 g BV = B ic] 1
65 |77 BXZTILFEIOugINIG] 10 ug 2mL 10A FrzLyyrr—<| F8 1
67 |7 L ETF E10% 10% 500g FrR77—<| 5 | 15
68 | 7L E7F ~$€100mg 100mg 100T FR77—<| B | 3
69 |7L ET7F$E100mg 100mg N 71207  |[FEk77—~| #& | 3
70 | 7L ETF »iE250mg 5% 5mL 10A FR77—<| B | 1
71 |7 LIILF¥81% 1% 100g Tr7LyY7r—<| 8 2
72 |7y F Lo XEF10mg 1% 1mL 10A A IRELEE a1
73 |7 > e NAFINEBAH100mg 100mg 5@ x 101@ |v«7tvzssl 5 | 5
74 |7 > e /NAENBA200mg 200mg 5fE x 1018 |v«7btuzmsE| 5 | 9
75 |77 axy —LigiEiE1smgl 2 A 4] [15mg 100T e B a1
76 |7>70%y—LiEmiEDS/hER15% 2 h4]1|1.5% 500g =) B R fa | 1
77 |EL-35 %1% (10%) 10% 500mL 20B fEEE B |
78 | A A ~F v —JL3005F20mL[F | 64.71% 20mL 5V |EL8ETE| 5 | 1
79 |4 F~FV—L300;E> Y »250mLIF] [50mL b4 ELTEETE| 78 2
80 |4 F~FV—I300E> Y > 2100mLIF]|64.71%100mL x 5% |E+&&ET| 58 | 3
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24 :. | TE
=2 T 2 R 1% A—F— ==K (v =
81 |4 —4 7 Z8€250mg 250mg 100T 1-v—e-ver| Fg 1
82 |14 —4 7 Z8500mg 500mg 100T 1-v—e-vesv| FG 5
83 |1 =777 K8K74>0y750% 50% 500g a—v—t—vorv| g 23
84 |4/ —ILEET0.5g 500mg 10V HETL ] 1
85 |4/ /X>F100mg 100mg bmL 10A TILE ] 9
86 |4/ ~O>$8200mg 200mg 100T T—H~4 ol 12
87 |1/ 7 XREARBARK(Y »I7L—/"—)[187.5mL 284 RIRELEE ¥ | 321
88 |47 = HEE3mg 3mg 100T vty 7r—<| 8 1
89 |4 > = Higbmg 6mg 100T vrevzr—=| 58 | 1
0 [1>»vr7LIryroy 7% 250mL FrLy7r—<| @ 15
91 |4 >»H 4 K%y 7 70mg TR x 40%% A BUE a1
92 |4 > TAHI I E20mglAFP] 0.4% 5mL 10A FroLyrrr—<| 1
94 |4 v T/ FI25 25mg 5f@E x 201E  |#mEELEL M| 2
95 |4 > F /3 ALFEI50 50mg 51& x 101& T B S L =T |
9% |41 > T ZI/LEE10mg 10mg 100T K77~ 58 | 1
97 |4 > T Z I EFHR2mE 0.1% 2mL 10A X7 7~ | & 1
98 |1 >~ b7 URRE%E20% 20% 100mL 10B RIRELEE 78 3
99 |7 A > & I HKI(10%) 10% 500¢g HMERTE| 2
100 |7 7L F K$Ebmg bmg 100T BEER 78 1
101|720y h-URSEER 1g 903 BATI77| 7 1
102 (7L F8XI5% 5% 500g HAU=Z8EK| 8 14
103 |7 /L §850mg 50mg 100T HA=zZ8E| F5 14
104 |7 )L/ 58100mg 100mg 100T HU=Z8EK| 8 2
106 |7 B AL EE225mg 225mg 100T A A e ] 1
10777274 >%160% 60% 20mL bA NATILER| 58 1
108 |=H— FEZEEEHD 100T HEERTHE| 5 1
109 [T FHIL R 5g 10K < Lk 78| 3
110 | =727 7 v#20% 20% 100g FTR77—<| % 9
111 | =7+ 7 7 >3 100mg 100mg 100T FTR77—<| % 1
112 [S-MEZ &8 1kg 7Ly r-<| 8 1
113 |T X 7 LARFI[250 ] 250mg 301& AT B Bl 1
114 | X 7 L AHI[500 | 500mg 301& AFCEIEE /| 1
115 |T &% / — L HER (%) B 500mL EP Frb R A | 90
116 | T FILE VY THR—FE250mg 250mg ImL 10A HEAERTZE| 2
117 | T x—FREEERBRBEARK 250mL 244% TRy bvwsv| Fg | 437
118 [Z/XX 7 J)LOD3E5 Mg 5mg/$E PTP10%E x 10 |Meijiseika7 7L~ | F§ 6
119 [ /¥F7—JLS900 900mg 844 s B 3
120|=EY 7 7 1 811% 1% 100g RIRBUE Bl 2
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249 . . | FE
=2 T 2 R 1% A —h— ==K iy) 5B
121 |ZEY 7 7 A43E1lmg 1mg 100T RIRELEE 78 12
122 |y 7 7 15€3mg 3mg 100T RIRBUE 1
123|ZEY 7 74 3E3mg 3mg n 7500T KIRELEE 78 5
124 |ZTEL A7 F<ILEB0% 50% 500g T—H4 i 1
125 |27 = FYU YT+ A LEF®KRIOMg 4% ImL 10A HET B | 3
126 |= 75 v FILAhT+EIL1bmg 10057 4 Rl Bl fa | 1
127 |ZHRF—ILE10mg 1% 1mL 10A Y/ 74 Bl 1
128 |ZL52—L bg 5= {ERpREU SR || 14
129 |y XAy K740y 710% 100mg 100g var bzl F | 35
131 |Z)LAILF FFEEE1000mg> Y > |5mL 10¥Yyy (b7-0y7) | RKERRLER pic] 6
135 [T L & F/INFlS8E& 1000mL 10%y+F RIRELER 78 1
136 |TIL A /XNF2E#HT% 1000mL 10%yh KIRELEE 8 | 30
137 |L-& 7 L v & X E8¥i 500mg 1g 1008 HAMERTE| 5 | 1
138 |TL v &2 —IILEREREH 80g 148 EA77—~< | 58 | 20
139 | T L v a2 —IPAKRAEAERNERE |40g 104 EAZr7—~| % | 3
140 #BLH Y T L[V <+ V] &7 500g IIE==10B S /a1
141 [#51vCafiE/R1mEqg/mL 7°7 0.5%h 20mL 10A [KIFREER Bl
142 |81+ b YU 7 LTA—Y 5] 500g ($&) RIRBLEE 8] 9
143 |27 H N 27 250mL 245 |7Ev bves| |17
Al oa7-Uxy R APON U= 250mL 24F |7+ y vy vsv| 58 | 23
145 [LH-RH;F0.1mgl =7 [ | 0.1lmg/ImLx5& |[=7'\[ B | 1
146 [T R Ko7 —L1% 1% 10g 104 NATILESR F& | 1
147\ F A4 7y 7R —=L10% 10% 10g 104 SRR S 78 1
148 | A4 Z v 7 AHZ U — LA bg 204K H sl s i) 1
149 [ K—L B 100mL R B EE w~ | 3
150 |F %/ — LIE$E600mg 600mg 30T HA=zZ8E| F5 1
151 | =7 X v F EEE5E250RS 375mg 30T r30v-2320947 | Fg 1
152 |# XK Ay ~EE200mg 200mg /v 7 250T HMERTE| & 3
153 |#/ 77 b =EEER50mg 50mg bV NBERTE| 58 1
154 (/v FZ4>0y 710% 10% 100g INBEBTEN 5 | 41
155 |7 0% 4> VRE®KE0.3% = b —]]0.3% 3.5g 104 REXFsvo| F8 | 1
156 |# L =/8—22405F10mL 51.77% 10mL bV |ee~rzs7or—<| 78 | 1
157 | 75dl 2 > &1 CREH) 75 5mL 20K = HEEE B 2
158 |4V 7@l 3 & 1 CRE ) 25mL x 243 = s &= | 3
159 |# U 7mlas &« 500mL b IR ZiN 3
160 |# /L& 3 > 3359 1g 10% 10g 2V BREESTE| B | 1
161 [ &>+ bayviEamgy U v PT<iA v |2mL 5YUyy AR BLEE | 3
162 |H X3 vEl0% 10% 100g o ARRTEl 58 23
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24 _ | FE
=2 T 2 R 1% A—F— ==K (v =
163 | A X —F537%10mg 10mg 5A LTL77—~| #& | 9
164 | A A MATZ 74 40 FEH 100mL 1V NATIIVER| F8 6
165 |[HAREF VEL% 1% 500g FTR77—<| %8 5
166 | A X 8 > N#£0.8% 0.8% 100g A A 3rEE ic] 2
168 | F— 7 N&tl0mg/g 1% 500g HEERTE| 58 1
169 (AT v 7 REE0.9% 0.9% 40g S e 11
170 |H R EX FE5E1.0mol/L> U »<5mL |5mL 54 NATLESR| F | 1
171 |#H+ b > 8850mg 50mg PTP10$Ex10|v«7ruzmz| 75 | 1
173 | /8~ 58200mg 200mg 100T ETHETE| 5 6
174 | A/~ 88300mg 300mg 100T ELRETZE| 5 20
175 [H~r> ooy 75% 5% 470mL ErEETE| @F# | 1
176 |h 7 = 4 > KFYIVTRSJRER 25g TaTbyzsEl Fg | 1
177 | H 7 > 2 —tEE50% 50% 100g —7'n 78 1
178 | B U X — FMR1%20% 20% 25g 1002(/ > 7 L ——) | A X 1
179 | AT 23— L EE#S8.5%5mL 8.5% bmL 50A HETL 78 1
182 A B+ —IL$8200 200mg 100T HOABIEE | Fg | 8
183 (HBEF—i>Ba vy 72% 2% 500mL HpHBIE | {EF 1
184 |#)2HB2 07U VAT M2008 6 = Fv - | |200E 7 ImL 1V |REERITE| F | 1
185 |&gHB s 07U v #EA10008E M = F v~ | {10008 A7 5mL 1V |RAESITE| 5 | 1
186 |&@BEEB-S <77 F 245 £1|0.7mL 1AS HEERTE| 78 | 1
187 |gzi@sssEkE7 7 F I >~]  |0.7mL 1V RIA=8E 58 | 1
188 |&zi@BaER LA T 7 F 25 %] |0.7TmL 1A% HEERTEl 8 | 2
189 |#2I@BEEM LA T 7 F 124 &%] |0.7TmL 1A% HEERTE| 5 1
190 [sesssmLARLARET 2 F> (245 4] |0.7mL 1A% HEERTHE| 78 | 1
191 [218BCG7 7 F ~ A LA 12mg 1V |ase—s—v-ms| 58 | 2
193 |Av =207y v #E450mg/3mLl 24 &1 |150mg(450mg)3mL 1V |REZE ST 48 | 1
194 |Hv~4 071 »EE1500mg/10mLl £ 4 £ ]{150mg(1500mg)10mL 1V R AR S T2 | 578 | 2
195 |F>mh4 v 2%EHTHR) 2% 5mL 10A H R || 2
197 [F>mh4 ) —2% 2% 30mL 54 VAN 78 1
198 |*van4 viEsmil%]T e L+ 2 >(1:100,00008% |1% 20mL 1V VN B | 29
199 (> A FY 1% 1% 10mL 104(15080369-6 17447 ) | H > N 8 3
200 |[F¥>OHhA ERXRBDR2% 2% 100mL N pic] 3
201 |F>BHA VR TRTL —8% 80g H R /& 9
202 |F v /3O v $E5mg 5mg 100T Farvyrrr—<| 8 | 1
203 |F v/ O~ $E5mg 5mg N 7 1000T Tuzvyyzr=<| @ | 9
204 [F v /0 v BEE0.005% 0.005% 1mL 1A B—=4 8| 2
205 [¥ v/ A > B8%0.05% 0.05% 20mL 1A B—=3 | 15
206 | ¥ v /O BEE0.2% 0.2% 5mL 1A B—=4t & | 104
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2% _ . | TE
=s T 2 R 1% A —h— ==K iy) =
207 3@ h x4 3/ 77 —4 v —PEF20mL [20mL 10A s/zr-yvuE|l F8 o[ 1
208 BRARXT YUY (IE) 2g b0 < Lk | 8
209 AL R4 Iva—FYrya—7&8E |10g 104 EER N |1
211 |7 — 7 4 REE5mg 5mg 100T EAZ77—~ | % | 35
212 |7 72 THERINAES T £ XiE 2527 7o TER| FE | 1
213 |7 7 TS T ¥ RIE 2527 77V IER B | 2
214 (7 7 & MRI10% 100mg 100g F—=3 78 3
215 |27 v F$E250mg 250mg PTP10%E x 10|55 —=4% /a1
217 |77 < U —JLHRI10% 10% 100g HETL & 1
218 [/ 5V zO=A > »E50mg/ MBI 74 | |50mg 100T RFFBUE fa | 1
219 (75 z2Aa~A > $8200mgl+ 7 4 ] [200mg 100T RFFBIEE a1
220 |25 U zm~4 > >DS10%MNBATY 7 4] [10% 100g R B 8 | 29
222 |7V A —ILFE 200mL 10%% Kg77u<| 58 | 1
223 (7 ) vimBi&50%] L% 130mL  [50% 30mL 201& AR %8 | 288
224 | 7)) & V) ViR R50%[ L ]60mL  |50% 60mL 101E A B | 972
225 | 7)Y VinB&50%[ L 1120mL |50% 120mL 1018 | Aaus 8 | 120
226 |7 U v g4y vBT 27 LE5E300meNP) |300mg 2mL 10A —70 ) 1
227 |7V 70 v EEAIE 100T R e = A I <N
228 |7 LA TG/ RESHImg Img 1V sonraarzr<| |1
230 |7 L+ 7 4 > THARKRLO% 3.56g (4mL) 54~ |RIAfFRIEE Bl 1
231 |7 L X VKD E2g 2g 848 RIA=8E 58 | 1
232 |7 0= A E$E100mg 100mg 100T Furvyyrr—<| F8 | 1
233 |70 7Y JBNaR ARIBI U7 4] |2mL 605 IRFFBLER | 24
234 |von~xs v rnaviET g/ —EsRI% =2 (1% 250ml = M B x~ 5
235 |KCL#IE®RImEqg/mL 18V 20mL 10A RIKBEE a1
236 |74V —N&E£10mg 10mg 2mL 10A T—H4 8| 3
237 |7 8 7 —ILEERAS0mg 50mg 5mL A F—=3 /a1
238 |IEAF b7 —rINFH 7] 0.5mL 50A B i 1
239 | 75— LA 7 IL250mg 250mg 100C HMERTE| 5 | 1
200 |7 —Rv o U —L1% 50g x 10 HA=Z8E| 5 1
200\ 7 Z2FFI>va—=720U—=L20% |20% 25g 10K (] a1
242 |@hifn / > 2 A > 500;F 54 H00E AL LR HEERTE| 78 | 1
243 |77 &> 40 40mg 1mL 10A = HREE /B | 1
204 |77 v & VERE0.1% 1mg 10g 10K = B | 3
245 |27 7 v 7 Ebmg 5mg 5mL 10A T—H4 /a1
248 |3 — kU LEELIOmg 10mg ~ 7 100T 77AY— | | 9
249 |2 — b O > > Z55:30.5mg 0.5mg ImL In A7 |ravvvwor—| 58 | 1
251 |3 Y —%5El18mg 18mg 100T vrwevrr—<| f8 2
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524 ) R
=s T 2 R 1% A —h— ==K iy) =
252 |a Y —&X5E2Tmg 27mg 100T vrter7r-v| 8 5
253 |12 R & 0.4mgsE 0.4mg 100T HEAERTZE| 1
254 (3> b —ILEN10% 10% 100g HEERTE| 7 5
255 (O3> b I U HEREEL2.5mg 12.5mg 100T HA=Z8E| F5 2
256 |3 YUY RS 4 my 7100mg [10% 1g 604 [l S a1
257 |4 7L 1% SiR& 1% 10mL 14 SRBUEE pic] 6
258 | — 3 EE0.5% 50001 500g T—H4 & 2
259 |7 UEERI10% 100mg 100g LTL7 77—~ | #& 6
260 | U > a/NEHEE®%0.02% 0.02% 5mL 104 SRAE 78 1
261 [0 SR&2% 2% 5mL 104 SRBUHE pic] 1
262 [(REIEHREES b 7 L1%RK 1L AR A | 99
263 [XEEIE6%] T X | 6% (525g)500mL = A A | 270
264 |/ bREYT—74 v 7 EB53mg|5.33mg 1¥yF 77 AY— ] 1
265 |z —Ewv 7V 1A 1V HEAERTZE| 5
266 (v Ly nanmy sy - FERERS%CE) (5% 10mL 104 REERIE| 578 | 1
267 |7~ — F$EDMg 5mg 100T Hh N |1
268 |3 »810.1% 0.1% 100g K7 7o~ &8 1
269 [ 3> >%0.25mg 0.025% 1mL 10A K77~ F8 1
270 | zx A~y 7 A/NEAL10% 100mg 100g 774 — | {& 2
271 [ 2B~y 7$250mg 250mg 60T (BER) |7 74 Y — | F& 1
272 |+ ¥ X ERS0mg 50mg 0.5mL 1V TARRIERA| FE | 1
273 | F ¥ RApEKRI00mg 100mg 1mL 1V FALSERA| 58 1
274 | F — L Ee S EER 1g 1058 IBEPRAEEE | 8| 9
275 | —/R5F 2mL 10A = B Mo 1
280 [B1b AV T L[V ~<E ] &7 100g WL ERER 78 2
281 |EA~l3a s 4] f&7 500g #Bfi = HRBE 7 | 15
282 |FHELERI VTRS R K 2bg 74T by REE| (E 1
283 PEERAIT X/ —IL [Y /] f&75 500mL(EP) bR ZiN 8
284 (LT o K40y 71.25% 1.25% 100g r3vvazzr542 | g | 30
285 | LT F T 7ILEESME bmg 140T FILH S ] o)
286 |FRAK 7V — LT A ] 500g ZE NS> 2
287 [ > X b LILHAKI10% 10% 100g Hr77—<| @ 1
288 |RF v o4+ / —ILA 40g 10K = BUER ]l o1
293 | R E—ILEM SPM16 25cm 64 |=F /v ic] 2
294 | AR EIL 2.5cm X 5em 31 LTL7 77—~ | F& 1
295 | XL/ Y v E4EFE0.75¢ 0.75g 10V Meijiseika7 7 4% | F8 | 3
296 | RN Y v ERTFEL.5g 1.5g 10V Meijiseika7 7L~ | F8 | 32
297 [RJvE Y RERKI50%[ 77 X L ] 50% 500¢g HMERTE| /B | 1
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524 ) EEE
=2 Ao Z R 1% A —h— ==K iy) =
298 | LY FEE50mgl 7 X L] 50mg 100T HMEZTZE| 1
299 [ZL~F /v TR 1g 10V 774 — | & 1
300 |[—f&a2hr RS ELY NL o U > (PPD)1AFR [—sewm - Lmozsuexomosmiiait |Bae—sv—v—is| F§ 1
303 |A£ER&ENS 5mL 50A RS ¥ | 98
304 |AEE%NS 20mL 50A(Y A 2 kv 7 —) | B FrilsR & | 120
305 | KRIEEERE10% 777 10% 20mL 50A |KixEUER 8 1
306 | KIREBEE 7°7 50mL 10K RIKBEE 8 | 240
307 | RIAEBE 77 100mL 104 RIRBLEL 8 | 18
308 [T ILEEER 500mL 20B TP-AOSNS | 7L & ] 5
309 | RIRERFE O FIE 500mL 204 | A ERELER 8| 6
310 [ A 7 IL$E50mg 50mg 100T =feemEm| f8 | 1
311 (27 2= L3% 3% 25g 10K AT BLEE pig] 1
313 |7 727 O JLKI10%] HET | 100mg 100g HETL ] 1
314 |77V U >rF+ bU 7 LESA0SgIHET]|500mg 10V HET ] 23
315 [ 77V U v F bU v LEsAIgAET]|1g 10V HET | 18
316 [t 7+ & v 7 X E5F0.5¢ 500mg 10V HET | 5
317 [ 7+ & v 7 X35 H1g 1g 10V HETL 78 3
318 [ 7Y =LA 7+ IL100mgl )G 100T BAYzxUvs| f8 1
319 |2 7 ¥ Z LR/ IN B 10%[ G 100g AxvzxUvs| F | 5
320 [ 7 &Y LEHER0.5g[VTRS 0.5g 10V s47hy ezl 58 1
1 |72y LFEERA1gIVTRS] 1g 10V TATRYRRE FE 9
323 |27 A&/ vEnER0.bg 0.5g 10V FroLyrTr—<| F8 1
324 | R 7 L v BAFRESR 250mL HARE | 21
325 |[ZLs B % 1% 100g HEERTE| 7 | 26
326 |zLv 8 (2mg) 2mg 100T HEERTE| 7 1
327 | v 8E(2mg) 2mg N 7 500T BEERSTE| 78 | 5
328 |z/Lv v 5E(5mg) bmg 100T HEERTE| 7 1
329 |t L¥ > EE(5mg) 5mg N 7 500T HREERTZE| 578 | 1
330 |ZILRy 7 X H S IL50mg 50mg 100C EA7 77—~ | %8 2
331 |2 LU A LEFR400EAL AOOEQL 1V T/ 74 /| 23
332 |[£L Y X FOD$Ebmg 5mg 28T RIA=#8%E 58 | 3
333 |EL A& I VEEEEE 500T = AR 8 1
334 [ L Z HREEN40% 40% 500g EA(] 78 3
335 [ L x— XA 1% 1% 100g ETR77—~| % 2
336 |z L %x—X§£0.75mg 0.75mg 100T TR77—<| % 3
337 |[ £ L x— ZX$Elmg 1mg 1000T FZr77—~| & | 1
338 [0 7 TL25mgdE 25mg 100T TATIRAEE| FE | 9
339 |V 7 IIL—Y ETFEBMg 1.5mL 1A s¥snFazrrr—~ | Fg 1
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E2h ) _ . | FE
=s T 2 R 1% A —h— ==K iy) =
340 |V 7L —V T E10mg 1.5mL 1= sasnFazrr—<| F§ 6
341 |V v ERER2.25 2.25g 10V ABEELTE| 1
342 |V v ERERL5 4.5g 10V KEERTZE| 18
343 |V & I v iF5&15mg 15mg 10A AR =
344 [V EZ v U RIRELE3% 3% bg SREUE 78 1
345 | 7 7 F 2 — JLAEFEI10cm 10cm X 10cm 104 |7 A HE&LE | {E 3
346 |V U Z-T15EHRK 500mL 20B fZEE 78 2
347 |V V) Z-TEEEREKI2S 4g 1002 (ZEE ] 9
348 |V U x-TEE&EEN3= 4g 1002 ZEE 8 | 420
349 |V L7+ FDER 500mL 20B TILE 8 | 36
350 [V IL-a—F 7 F5H100mg 100mg bV 77AY— | & 9
351 |V b-a—F 78 EA500mg 5N ATl 77AY— | | 3
362 |V X FO—JLETA125mg 125mg bV 77AY— | & 1
363 |VIJL- X FA—JLEmER1000mg 1g bV 774 — | f& 2
354 |V IR b rERERALI00mMg 100mg 10A 774 — | & 1
355 |V ILT L3AEIK 500mL 20B TP-ABO5GM3A |5 JL & ¥ | 48
356 |V LT L3AGEIR 500mL 20B TILE 78 5
357 |VILT 7 MR 500mL 20B TP-ABOSNR|F /L& ] 1
358 |V ILZ 7 b D#Eaik 500mL 20B TILE 78 9
359 (&4 77w KN4 Amg 501& = HEEER || 2
360 | &4 7 v SHHI6 6mg 501 = B 78 3
361 (XA 7y 7AKI10 10mg 501 = B G| 2
362 XA 77— FER30mg 30mg 100T =R | 8 | 2
363 | X4 7y 7 A FEHFA500mg 500mg 1V =HLEHRA | 58 1
364 | AT EY 7 AR 25¢ =MemEas| f8 | 3
365 | &7 1) E98% I KIE | 98% 1.02g 902 KRIE B i 1
366 |Z F ¥ 7#€10mg 10mg 100T HEERTE| 7 1
367 | % ¥ v 7§€10mg 10mg 500Tn" 7 HAERTE| F | 6
369 | &4 70 v ERA30mg 30mg 10V HEERTE| 58 1
370 |# 3> v F200mg(CESTA) 200mg 10V Y74 Bl o1
371 | Z XY —LEEImg 1mg 100T SRS ] 2
372 (2 27 HTEILT5 75mg 10C A\ B Mo 1
373 (& 27 ATEILTS 75mg 100C A\ LR B |
34 |27 K740y 73% 3% 30g Hh N i 9
375 |% U vy FERERE0.3% 0.3% 3.5g 10K SREUE /| | 29
376 |2V £y FERIE®K0.3% 3mg bmL 54 vy zr-%| F8 1
3T |Eyoy Ty —] 7 500mL(EP)  |fEsdysE N |3
3718 | X b YU LA 7+t IL25mg 25mg 100C A—7reny7avs | FG 3
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24 _ | FE
=s Ao Z R 1% A —h— ==Xy =
379 |&v R U LA THEIL25mg 25mg N 7 500C r—7roryzavs | FE | 18
380 |& >~ YUY LEERA20mg 20mg 5V t—7rvezevr | FA |1
Bl |gv=vBE7ILTIvFrrT—] |BFH 500g SR AU a1
382 |7 2 b —JL7k(0.025W/V%) 0.025% 500mL pAPSETE i | 42
383 EstANKI 7V —] 5mL 50A HEEOTEN 5 | 2
384 SEHTAK 75 20mL 50A & YrFLovfabnr-| B FHEL R ¥ | 120
385 [SEHTAKPLI 7Y — | AAE 71 100mL 10V [HkBERTE| 58 | 1
386 [(EHTRAKNy 717 —] 1000mL 10B PREERTHE| 5 (1,845
387 | KIRFKE K [ROBIE 1L 104 | AIREE 7 | 155
388 |+ 5 —F > SEX0.01% 0.01% 100g HARRITE| 78 | 18
389 |F5 —FSEeh0ug 50 g 100T HRARZTE| 78 | 3
390 |V A > T4 U NFERAIRIEAR 1tyb 1248 RIREHE ¥ | 69
391 v L sHmmEEHIFS T+ 2B (EEA) [2.58 428 No26 SN B
393 |V A7 AFE T+ REH(EEA) 2.5g 427 Nol7 N & | 36
394 |V LS +2KEsT ¥ BN (EER)|2.5g 428 No4s N 7| 14
395 |V A Z/INEESTF XEN(EER) [3g428 Nol9 VL7 B | 8
396 |V LT REFRST ¥ XER(EEM) |2.5¢ 1898 Nol00 |V L7 A | 29
397 |V LS KBRS+ 2R (EEM) (5008 N @ | 2
398 |V L ZHIATER T ¥ R FERL(EEEA)  |2.5g 1898 Nob4 [V L7 a1
399 |V LS RETFHTF XN (EEA) |2.5¢ 1898 No43 |V LT M| 27
400 |V LI REF ST ¥ 2B (EER) |500g No43 N @ | 12
401 |v B 75Fa—iL7—705mglAYX] [0.5mg 70#% AFCELEE pic] 1
402 VB 77O —T—F1Imgl AL Img 70 A B | 3
403 |V BZ7TFa—LT—72mgl A¥] 2mg 708 AFCEIEE ic] 1
404 |TRH:*0.5mgl =70 | 0.5mg/lmLx5% [=7'O B 2
405 |7 T & I582.5mg 2.5mg 100T T—H4 | 20
406 |74 74 UM E 54> ny ZARA20% 474 |20% 100g IR B | 3
407 |7 FH — R E5H&R1.65mg 1.65mg 0.5mL 10A |St&sET| 48 | 2
408 |7 F Y — FEHR6.6mg 6.6mg 2mL 10B =T | 1
409 |THFY X 2 OEBAEE0.1%INK] |0.1% 5g 104 H AL 3 || o2
410 |77 L b —ILHR%I50% 100g Hvrury—<| f& | 30
411 |72 b —IL$E100mg 100mg 100T vy r—<| 8| 2
412 |72 L b —JL8E100mg 100mg " 7500T |#>v77—~| &8 | 2
413 |77 L b —IL$E200mg 200mg 100T vy rr—<| f8 | 2
414 |57 2L b —IL8E200mg 200mg N 7500T |[#r7vr—~| f8 | 1
A5 | 7R/ 7Y IHE FE250E 4L 250U 3.4mL 1V AAmRREEE | 1
416 |7 /%4 »R$E100mg 100mg 100T BIxyUv | 58| 5
417 | T /%4 »R§E200mg 200mg 100T BAmxyU > | 8| 2
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24 _ | FE
=2 T 2 R 1% A—F— ==K (v =
A18 | 773 »R§E200mg 200mg " 7 1000T |@fM*V > | & 2
A19 |7 /30 HRKI40% 40% 500g HBHEU >y | & 18
420 | 7734 > $8100mg 100mg 100T HmAxY v | 8 1
A21 | 773 > $8200mg 200mg 100T HBM*EU >y | & 1
A22 |7/ >vay 75% 5% 500mL HBAxY > | @ 62
423 | 7 /3 X$E0.5mg 0.5mg 100T HO=Z8E| 8 2
A24 |7 RO a—LERFEI = v > 1(10%) [10% 10mL 10A SRS 78 1
425 | F ~RILHEE20mg 20mg 100T A Bl 2
426 |7 -a—FYIILERE 5g H0A fHE = |1
427 | 7L 3 ) »58RI0.2% 0.2% 100g Hr77—~<| f§ | 15
428 |73 Y v iElmg 1mg 100T Yror—<| | 1
A29 | TILER— FERE0.05% g x 10 v59v-2320547 | 8 1
430 | 7L 2>y 7 MARER2mg 2mg 501E AL THEFF | 3
431 |7 L 2>y 7 MAREIOMg 10mg 501 CrARLT7HE FF | 6
434 |ba7 za— LB T X7 LER20% Y LT | [20% 100g Fo /R B 78| b
A35 | K /XX b+ »8898.5% 98.5% 100g AERERTE| 1
436 | b EFHHKI10% 10% 100g HBAxY > | @& 5
A37 | b EF8E50mg 50mg 100T HBMEU >y | & 1
438 | F EF5E100mg 100mg 100T HBAxY v | 8 1
439 | b 7' LERE0.05% 0.05% bg 104 HO =8| 8 1
440 | K7 % 3 v iaREtE SERSER100me %7 4 1 [100mg 5mL 10A  [JRFpHIHR M| 12
A41 | b 7 7 = —JLEE10mg 10mg 300T FrrLyy7r—<| F8 1
442 | b 7 > ZEESAME bmg 100T axs—vn—cvianin | FG 2
443 | b T RL T U ERAEE 100T T—HA fa | 1
A4 |+ T Y I v AT 4IL250mg 250mg 100C F—=H | b
A45 | b Z Y 2 EB0% 50% 100g F—=% ic] 1
A46 | b7 Y 2V E5% 5% bmL 10A F—=3 78 2
A4T [PV T Ly ny 7o = FORARGHS ugl AE] |25 1 g 104 104 RIEBUHEE pic] 1
A48 |~ Y 7O —iLay 710% 10% 500mL Frzrvyzr—<| & | 143
AI|PLY—NF TL YT RRZYF 300E L 24 s¥snFazrrr—~ | Fg 2
A50 | RO L 7 & v iFEE&R25mg 2.bmg 10mL 1V TATLyHTr—%| FH 1
A51 | FAYEVREFX V7 bR FILGF (50008 AL bmL b4  |HEH B 1
A2 | 7+ 430 30mg 201E mAx v | 5 2
AR3 | F 7+ v AFI60 60mg 201& wmA¥Y v | 5 1
A4 |7+ »8E10 10mg 100T wmAxY > | 1
AS5 |8 v KR40y 71% 1% 120g WBM*EU >y | & 2
AS7 |+ )b>a—> 3 >3% 3% 50mL 104 T B B 8 1
A58 |+ 7 7 ER &y b A VEEESA10melAY] |10mg 10V fZE=E ] 1
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24 - e | TE
=2 T 2 R 1% A —h— ==K iy) =
AB9 |F 7 7 ER Xy b XV ILEREESA50melAY] [50mg 10V B YEE & ] 1
460 |[= 3V > F57%250mg 250mg 2mL 10A HEAERTZE| 1
461 (==L ) —L2% 2% 10g 204 CaEEAE S B 2
462 | =7 L v 7 BeERAA 102 7 32799n vy |EAZ7 7—< | #8 | 2
463 (FLBR H L LI —]  |HMRR /YT 500g |[fESREUEE B 3
464 |FLREXRFIPI R T A | CF 500g vaT7hUARE| FH | 33
465 |Z a2 —FENy 7 ANPY Y v Sy 1A MSD a1
466 | = 2 — L 7 FILERKI10% 10% 100g = HEER |1
467 |=2—L 7FILEE5mg 5mg 100T = B 2R B 2
468 |— 2 —M & >$E25mg 25mg 1007 e A EREE
469 [F A %Y a—7F1Img 1mg 1mL 10A AN | 2
ATQ |2 F > 22 aA—75%SRK 5% 10mL EA( ic] 1
471 |24 X KA —JLEEEE 3g 104K 77AY— | & | 3
A72 |2 %> LBBRERSS10mg  |10mg 289 TARIERH| FE | 92
AT3 | R A TEFEIOug 77> > 30ug05mL 1A |HBAFVY | 78 | 1
474 |2 2 7 E5K60ug 752 ) vy [60ug 19Uy BAmxU>y | /| 1
475 |/ A4 TILHRRIA0% 40% 100g Tr7LyY7r—<| 8 2
477 |/ — LN — L EB250mg 250mg 6V /=~nzr==| F& | 3
478 [/ L7 R U+ U >iEImg 0.1% 1mL 10A razvsszr—< F8 | 1
484 |\ & 2 ERAEER 100g IEEREE | 8| 2
A85 (/N F Oy EERAETE2% 2% 3g bA vavvazzrsay | |1
486 |JLFREREEE b v A RTAER A 0.5ml 1A A= 8E K | 2
487 | /32 )L R &R500mg 500mg 100mL 104y (s romues| 55 | 1
489 (/N 77 —HBRI2% 2% 0.5g 604 AMBERTE| 5 | 5
490 [/ F > $2100mg 100mg 100T B—=3 |1
A91 |INF > FZ4>ay 75% 50mg 100g B3 i 1
492 |/N 74 F$8150mg 100T HO=Z8F| F8 | b
A93 |\ b A EERF2000HEAI1IB] |2000E 4L 100mL 1V |RAmmasiws| 78 1
494 |/¢2 FovB=Nas@estA15mel %74 [15mg 1V SRFFBLEE | 5
495 /¢ F o v B Nas@ssEm3omel 474 1|30mg 1V RFFBIEE ] 9
496 (/XY kv 7HD SHAKE[ & H | 300g x 24 nAr>77—<| F 1
499 (/N )L F — ILERKI50% 50% 100g HMERTE| 58 | 1
500 [/ L7 ABRF b Y v LHKI40%EMEC][100g HET 8 | 48
501 (/L7 O8Na> Oy 75%[ 73+ 7] [50mg/mL 500mL  |F—=4t a2
502 (/%)L 2 30— PR AKRO0.25mg 0.25mg 2mL 30A |7xr3€xA| 8 | 29
503 |/XL 7°5 XK 500mL 20%y+ P EE = |
504 [N a4 > iamE SEEEA0.58M884 ] [0.5g 10V Meijiseika7 7L~ | F§ | 9
506 |/ R E10% 200mg 2mL 50A FroLyrTr—<| F8 1
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24 _ e | FE
=2 s % # % X—Hh— i==K}v2 =
507 [/ £ &2 v EREEXA) 100g RAERTE| 8 | 12
508 |/\ v 73E 591000 1000 g 10V E—=4 Bl 2
509 | 70 v BNamBR&0.1% = F—1]0.1% bmL 104 HEXT4vo| 78 1
510 [PLEC&FEAL 1g 1002 EFERRE | 58 1
511 |EFF >~ 80.2%[1 7 v — | 0.2% 500g KREERTE| 58 1
512 |4 7 L I v EEAER 500g KRIESRIER @ | 11
513 |EH —R vk 500mL 20B fFEE 78 9
514 (B2 > v F53A0.25¢ 250mg 10V MeijiSeika” 7 L~ | Fg 1
515 |7 viFEAlg 1g 10V MeijiSeika” 7L~ | Fg 1
16 [Eazi77—rF bU T LEI%I L) 71 |[1%1g /NT 500g X 1&E|¥ ) 7HETE| 3§ 2
517 [cazn7r—r+ r U ammmo.75% « 7%) [0.75% 10mL 104  |&ials 8 | 81
518 [ N — )L FESTHIKE 1KE 1V rh LB ic] 1
519 |[Ev 7nn—7 < LEESE2.5mgl %7 1 | [2.5mg 100T RFFBIEE o1
20 |27 biEF Y b 1ty h 105y K TILE ic] 1
521 |E% = »B6E10%I <~ I/L A > ] 10% 500g AR & 1
522 |EZ XY VEREH T ILB25 100C vy zr—<| F8 | 1
h23 |E & X ‘\/\/@E{i\jﬁi& 100g TATLyHT =% T 5
524 | &> b —JLEE25mg 25mg 100T F—=1t pic] 12
525 |E /Nt hH T L20mg 20mg 30cp HHEERIE| 8 1
526 |E/X vt H Tt IL30mg 30mg 30cp HEAERTZE| 1
528 | — L4 >3F0.25mL 15 Meijiseikaz 7 12 | F§ | 2
529 [E— L4 v F0.5mL 0.5mL 1V MeijiSeika” 7 L~ | Fg 1
530 [E L/Yy FEES0ME 50mg 100T F—=3 78 1
531 [ELXXy FFZ 42Oy 710% 10% 100g F—=% i 17
532 |[EER X > $81.25mgl TE] 1008 PTP h—7TZ43—| 5§ 2
533 |l 2 —~ U »R;F100E(I/mL 100E4z 10mL 1V |Bxs—-54vvu—| H8 1
534 b 2 —~ Y »N;E1008 7/ mL 1007 10mL 1V |Bx1—34vv—| 7§ 1
F3/b b a—~AZFEIUARY 300E (L 2%y Ak —-54vu—| F§ 2
536 [PKEEEE] = v 0 — | 500mL AR FiN 1
539 |k A FA—2320.3% 25g 104 < IV pic] 24
540 |EJL b = 0.5mgF 5K 0.bmg 1mL 10A HEERTHE| 78 1
541 |BJLF I VHERI10% 10% 500g HMERTE| 1
542 | L7 2 v EE(5mg) bmg 100T HMERTZE| 9
543 £ L+ 3 v $2(25mg) 25mg 100T HMERTE| /8 | 2
544 | ILF 2 v EE(25mg) 2bmg N 7 1000T HMERTZE| 2
545 ('L F 7HAL10% 10% 100g = AR ic] 2
546 &L F 7 5E(25mg) 2bmg 100T = AR 78 2
BAT |7 7 EF V0% Y7 1 ] 10% 100g IR B ic] 11
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21 _ . | FE
=s Ao Z R 1% A —h— ==Xy =
BA8 | 7 7 EF P 8E20( 7 1 | 20mg 100T RFBUE B | 12
549 |7 7 EF > DEgl0mgl H 7 A1 | 10mg 100T RFFBIEE | 5
550 |7 7 AL KRZ4>my 7/NEBALI0% [100mg 50g < Lk B | 1
551 (7 7> ¥V oy 7100mg/mL  |100mg24mL 1EK |5F=7577—4| {& 1
552 | 7 4 3> /NEAKI1% 100g # b T—H4 8| 12
553 | 7 4 3> /3882mg 2mg 56T T—HA | 5
554 | 7 4 3> /X884mg 4mg 56T T—HA 7| 8
555 |7 4 O > /8Ed4mg Amg N 7500T T—H4 = |
556 | 7 4 ¥ #1408 (500mLL) 500mL 20%2 RIKBEE 8| 8
557 |74 75X X7 L —250 250 1 g 1eyh R B3R /a1
558 |74 75X F X7 L—500 500 1 g 1tyh LA B SR | 5
559 |7 4 7B AH I VPESER 6V cst—yvs| 58 | 1
560 |7 =¥V 7 =+ iERIEHE60mglYD] [60mg 100T e 8| 14
561 |7 =F Y/ —ILEVE5% 5%1lg 10gxb0AK |v+7tyzasEl 5 1
562 |7 = ¥ v EHFA0mg 40mg 2mL 10A HET a1
563 |7/ /N—LT Y F)L0.4% 0.4% 500mL B—=4 @ | 2
564 |7 =/ /N—ILENL0% 10% 500g F—=H 8 | 33
565 |7 = / /N—JLEE30mg 30mg 100T B—=4t /| 3
566 |7 = / /N—JL§E30mg 30mg ' 7 1000T |FF—=# Bl o2
567 |7 = / /N—JLiESKE100mg 10% 1mL 10A B—=4t || 2
568 |7 = 7'V 7 $€10mg 10mg 100T wAZ7—<| f8 | 3
569 |7 = 7'V 7$810mg /X Z 50088 TATTF—<| FE | 2
570 |7 =)L EF o T —735mgl =% 7x10cm 14 3048 | =L 5 a1
571 |7 = @ 2 7EE418.3% 100g T—HA 8 | 38
572 |7 = A 2 7$E50mg 50mg 100T T—YA /| 8
573 |7 = v & Z L EETRO.Imgl B —=4t |[0.1mg 2mL 10A F—=4 | 8
574 |7 A 4 /¢ $8100mg 100mg 100T IINBERTE| F5 | 5
575 |7 # U7 I »&E100mg/g 10% 100g ELTRETE| B | 2
577 |7 X3/ 8810mg 10mg 100T Y/ 74 /a1
578 | 7 X 3/¢F20mg 2% 1mL 10A Y/ 74 Bl
579 | 7 K7l H A -M] 500g INRBUHR 78 1
580 |7 KU EG&RI = v > |(5%) 7 75% 20mL 50A | B #rHEs a1
581 | KIFHERS% 777 5% 100mL 10B |AKiFREUsER B o1
h82 | KIXHE&EL% 250mL 20%2 AR B 5 8 3
583 | KIFHERS% Y7k 5% 500mL 20B |AiFREER 8 3
584 | FIILEFETFL0% 10% 500mL 20B FILE |1
585 | KIXHER20% 777 20% 20mL 50A |KIFEUER 7Bl 1
586 | 7 K vHEEEI&RI = v > > [(50%) 77 50% 20mL 50A | B i |1
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ey _ | PR
=s Ao Z R 1% A —h— ==Xy =
587 | 7°Z / N—ILEEESE 210T BEEESTE| & | 1
589 | 77 v 7 R§E25mg 1007 Y/ 74 | 1
590 |7 7 >~ KILF—740mg 40mg 501 b—7z43—| F&§ | 5
592 | 7"V I F V#%99.5% HET | 99.5% 100g AHET || 2
593 |7 > =T V$ED 5mg 100T HET || 8
594 (7Y >»~_Z >y 70.1% 0.1% 500mL AHET @ | 1
595 |71 v T 2 EHR10mg 10mg 2mL 10A HET B 2
596 | 7 /L€ = F§El2mg 12mg 100T Hrrr—~<| & | 9
597 | 7L+ = F#El2mg 12mg N 7 1000T Hror—~| | 1
598 | 7% 4 R50ugT 7/ — L1200 AFH |8.83mgl0.6g13R x 1# |[777v-=z2254~| 5§ | 9
599 | 7L~ =L g E&R0.5mgl SW | 0.5mg 5mL 5A RFBUE a1
600 [ 7/L X kA Y HEE®0.1% 0.1% 5mL 104 SREE | 3
601 |7 L7 I v-PEgHR 200mL 10B heERFTE| B | 1
602 | 7 L A3 5H15mg 15mg 1V A A& pic] 1
603 | 7Lt T v 7 REST®R200ug] 7 7 A H— ] [BA AT 774 = FE | 1
604 |/KAMETL K=>20mg 20mg 2mL 10A BEREE | 8| 1
605 |7 L F=vavEl &4 £ 1% 1% 100g BREERSTE| & | 3
606 | 7L K= $E5mg 5mg 100T BEPERRE | 8 | 5
607 |7 L 74K IRIILE— XX-PF1825 504 TFILE o] 1
609 |7 B v AB®KL% 5% 30mL 104 B—=3 71
610 |70 X ZJILE > -FEEH%1000 Img ImL 10A Af B a1
611 |7 B R &> T 4 »EE0.003% 0.003% 10g 104 |/I\BERTZE| 58 | 2
612 |7 A& I FlK4%[ EMEC] 4% 100g HET /& 9
613 |7Aa %/ —LL;F0.2mg 0.02% 1mL 10A EER N |1
614 | 7O % I VFEEEF100mgl EF & [1% 10mL 10V FrH SR a1
615 |7 B+ 5 LOD#E0.25mgl %74 ] [0.25mg 100T RFFBIEE | 3
616 |70 kv Z78E0.1% 0.1% 5g X 104 < LR 8| 2
617 |7’ A /%Y —L$E50mg 50mg 100T REEMTE| f8 | 1
618 |7 A~k 500g A B @ | 30
619 |7 AH 7 + —ILEET1%20mLI <L A ] [200mg 20mL 5A A B 8 | 18
620 |7 B 7 + — L ESFI%50mLI <L A > ] [500mg 50mL 1V S R 7| | 36
621 | 7 B~/ LARFIBmgl ¥ > K] 3mg 501{& VAN pic] 1
622 (78 L7 FUNamR#&01%I = b —][bmL 104 AEXT1vso| 58 2
623 |7 R L~Fs U IERIERAK2% 24 3 —1(0.2% 45mL 14 BREEATE| @ | 14
624 |70 XZ 4 EVESHEN/g 50000 (i1 20g 104 |~ Lk |1
625 | ~F v 7 KW(0.05%) 0.05% 250mL =B x| 1
626 |[~NFH v I RITT 4% 500mL =B x| 8
627 |[NH 2l v E5% 5% 100g T—HA B 2
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24 . o | TR
=s aE 2 R 1% X —=Hh— i==Kiv2 e
628 [ R4 70OD$E2.5mg 2.5mglsE 100T TRFIAME| /| 2
629 |[RZ FOVvEERIHL% 50mg 5mL 54 HEERETHE| & | 1
630 |2 b O SERAE0.5% 0.5% 5mL 54 REERIHE| & | 1
631 | Rk 2XR— FNEE bg 104 v59v-222254> | FG 1
632 | Rk ZR— FERE0.12% 0.12% 5g 104 ravvazzrs4y | |9
633 [R=>U>GAH Y Y L1005 EAGESA) (1005 E AL 10V Meijiseikaz 7L~ | F8 | 1
634 |BRim~= [ > -1 HA500mg 500mg 10mL 1V FAZ7—<| f& | 1
635 |[BRIM~N= [ > -15FFH2500mg 2.5g 50mL 1V wAZ7—<| F8 | 1
636 | N3~ U VIR AKOS% 0.5% 30mL 75572227547 | {8 23
637 [N/ F 2 —ILAR”K0.4% 0.4% 5mL 104 SRBIE a1
638 [~/87 5 v 2100846/ mL> ) > 210mL |1000& (7 10mL 108 | T /L€ | 12
639 [~/ v NajFbFEA/SmLIEF 4 | |50008E 7 5bmL 5V |HFFHA /Bl 2
640 |~/5U VELMESNERZ 7 L —0.3% BAES] [200g X 34 BAfEsRE | 8 | 59
641 | RV 77 FEL% 1% 500g HETL & 2
642 |RU 7o F Oy 70.04% 0.04% 500mL HETL & 1
643 | XU 7SR POVt y MEREER |ImL 2%+ 158 CSln—U>Z| # | 1
644 | RILY EVIFEFTKRIOME 10mg 10mL 10A LTL77—~| & | 1
645 [RJLY L Z510mg 10mg 100T B—=4t Bl 2
646 |~ HRI1% 1% 100g HM|RTE| 58 | 18
64T | R H Y 82 2mg 100T HMERTHE| 78 | b
648 |~ > %5 5mg PTP10$E x 10 |HMEBITHE| 78 | 5
649 | R H 1 55 Bmg /N 7 1000T HMERTE| /B | 1
650 [R>¥iLa= LERE L= #%10)|10% B + Y 500mL |fEsess AN | 8
651 [> =— K175 Z(32G 4mm) Amm 147 54 sionrazrzr—~| /| b
652 [ 2> L X T —718mg 18mg 50#% < IR Bl o2
653 (Ko7 F VU K740y 701%NEA|[0.1% 100g T4 T U RBE| 2
654 |'F R 22 v SEFA0.5¢ 0.bg 10V MeijiSeika” 7 L% | 8 1
655 [F A I SETEMALg 1g 10V MeijiSeika7 7 L= | F§ 1
656 |TFR IV RZ7 40y 7400 400mg 100g MeijiSeika” 7 L% | 8 1
657 [F X I HAKO0.1% 0.1% 100mL F—=1t i 8
658 [RX I > iFimg 0.1% 1mL 20A E—=3t A
659 |7R X U R A FERN 2002 CUTHETE| 5 | 1
660 [ kv & 233 F50H8 50If 1V r30vasar54-| %8 | 83
661 [ kv & ZF 1008 fir 1008 1V r70vaza050| FH | 255
663 |7K 7 F XiEl Img 100T Fr7577—4| 55 | 1
664 [ Z ¥ 2§23 3mg 100T F=7777-4] F8 | 5
665 |RZ7 7 I > Ebmg 0.5% 1mL 10A = AR 78 2
666 [/ > iEEHKR10mg 10mg 2mL 10A AR i 1
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667 [[RILZL > HK12.5mg 12.5mg 504 srvrazzr—<| F8 | 1
669 |HRILN > ER6% 6% 500mL 20B RIxKBUHEE ] 1
670 [7Ri~<YU > aYhA-M] 500mL A E R ZiN 1
672 | K> Z—ILEb0% 50% 100g 77A4Y— | f& 1
673 |~ 4 ¥ —8E0.05% 0.05% bg 104 HU=Z8EK| 8 6
674 |~ A4 XX VHR1% 1% 100g EFk77—~| f8 15
675 |~ 1 X & >~ 585mg 5mg 1007 Gr77—~| 58 | 2
677 |~ —Hh AV FEMB0.5%ELE 0.5% 4mL 10A Ho R Bl o1
678 |~ 7 < v hiE250mg 250mg 100T AR 78 2
679 |~ 7 I v FEE250mg 250mg N 7 1000T [ aduss ] 3
680 |~ 7 2 v hiEb00mg 500mg 100T AR 78 2
681 (¥ 7 I v F3E500mg 500mg " 7 500T AR ] 6
682 |~ — XL v SECE BT 500g FHHIER i 2
683 | = v b —ILSEGFK 300mL 15%= fZEE i) 1
684 | I FF—ILFEKI10% 10% 100g T—HA & 5
685 | 2 4 F—/L§E50mg 50mg 100T T—HA Bl o1
686 |4 7 LAZER&K2% 2% 2.5mL 104 RIRBUE 78 1
687 |2 XY 7 LiEIOmgl > K| 10mg 2mL 10A Ho R & | 8
688 | X7 L v HERF0.1% 10mg 10mL 10V TrzLyy7r—<| 8 1
689 | KU PHER 5mL 104 S REHK Bl 2
690 | =7 L X$80.5mg 0.bmg 100T 77AY— | & 2
691 [ = U > X)L FOD$E60 g 60 1 g182 100T sxvvr27-<| F8 | 6
692 |3/ ¥4 2 U viEmE S EEEAR100me BET | [100mg 10V HET a1
693 |2/ ~A4>>Ah7+E)L100mg 100mg 100C 774 — | f& 1
694 [/~ A4 5N 2% 20mg 100g 77AY— | & 9
695 | T vV BMiHAL N 7500g SvusosEl Fg | 14
696 | U XA —JL3F5mg/10mL 5mg 10mL 10A H Ak 38 Bl o2
697 | LKA »EE250mg 250mg 100T EIREEE i 2
698 | LKA Oy 75% 5% 500mL BRI & 3
699 [L 3% A4 > DS50% 50% 500g EIREER 1 21
700 | L3714V vIRAK20% 17.62% 2mL 508 |=Z—H4 8 | 210
701 (AR X/ — L 1) 500mL AR Fi 1
702 (XK X/ —IL;EIVTRS] 5mL 10A T4 bUREE FG 2
703 | A4 72 FMS/NBHMRI10% 100mg 100g Meijiseika7 7 L~ | 8 2
704 | X4 0VETET% 7% 20mL 50A RIRELEE 78 2
705 [ X ¥ F— LA TEILE50mg 50mg 100C K77~ f8 | 1
706 [ X O E10% 10% 100g BB REE | 8 3
707 | A 3> 8E15mg 15mg 100T IBEFREE | 78| 5

17/24




24 _ | FE
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708 | X F T 7810% 10% 100g —70 /a1
709 | X F a/N—J)LHB%I0.1% 0.1% 500mg 120a |Z—H A B | 8
710 | X F 2L 388250mg 250mg 100T FR77—<| B | 9
711 | X b U v $E2mg 2mg 100T KRIEBUE /a1
T2 | A RL=ZwoiE 2mL 50A BEEERSTE| & | 1
713 | X x> v FEEE$EL00 100T FNLH/v | B 5
714 | X 7~ ~ULFER/NBFE0.2% 0.2% 1g 100g /=~nzr=<| F& | 20
715 | X)L A3/ — L §EBmg 5mg 100T HREERTZE| 78 | 1
717 |4~ R A7+ LT.5mg 7.5mg (PTP)10C x 10|w« 7 ruzms| F | 2
118 |E=7 v ->Avw 765% 650mg/mL  300mL |4 & @& | 20
719 [EEa—ILEEERAFILD 1002 1%8 FAZ77—~ | 58 | 71
720 [B YU A/ v miERE 200mL 30B EAZ7—~| 5 | 1
721 |27+ > R NBE10% 100mg 100g 74— FE | 1
722 |2—Ev F$E100mg 100mg 2T RIRBYHL /a1
23|27 HhHL/ EERI1% Y LT ] (1% 100g Fo /R B a1
724 |2 XS5NA7+/)L100mg 100mg 100C T—HA fa | 15
725 |2 RS®wmE 56g b7 T—HA B2
726 | AR Z &= 500¢g T—H4 & 1
727 |[2—0> 1% 1% 100g BEERSTE| & | 1
728 |21— A< v 1imgtE 1mg 100T RARSTE| 78 1
729 |7 a—ANFEAEBER(I—E—7L—n—) [200mL 284 RIERBU L a1
730 |5 2 —ANFEARBAR(NF+ 7L —/1—) [200mL 28% KIRBLE 1
731 |7 a— ANFEEARBAR(I LY 7L ——) [200mL 2848 RIKBEE F8 | 300
732 | 7 3 — ILNFECEHEBE B HEE X 300g 181" v KIRBLER 78 | 315
734 |7 > v 7 Z3F20mg 20mg 2mL 50A HET B 2
735 |5 %/ 7R Xk ART%0.005% =#1] [0.005% 2.5mL 54 |=ms#mxm| F8 | 5
736 |7 v 7 E—#HIN 500g HE ] /| 11
737 |5 7 0 % SmEnEik/ N4 7)150mg |150mg 15mL 10V  [EEpskesE | 8 | 1
738 | 7 R F$E50mg 50mg 100T RIA=#8%E 58 | 3
739 (7 2 7 & —ILgE/NBH2mg 2mg 1407 r50v-232054> | Fg 5
740 |27 2 7 X —LiE/NBH5mg 5mg 140T voyv-2zassa> | |17
741 |5 22 % —IL8E25mg 25mg 140T vovvaszosa-| Fg | 15
742 |2 2 7 % —ILEE100mg 100mg 140T 759v-2:2754> | F§ 5
744 |5 2> — LEE125mg 125mg 100T Hrrr—~<| B | 1
745 |V YR UHKI10% 10% 120g FveAERTE| FH | 5
751 |V ZR/3& — L& 1mg/mL 0.1% 0.5mL 508 |v>&>v77—~| % | 26
752 |U X/ & — LA RLImg/mL 0.1% 1mL 504 vrerzr—<| F8 | 12
753 | U A 2 —$E2mg 2mg 100T HAMERTE| 5 | 1
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754 | —+'$25mg 5mg 100T ED=%8| 57 | 1
755 |U R b U —JL#R0.1% 0.1% 500g X7 7~ | & 18
756 | U R kU —JL$E0.5mg 0.5mg 100T KE7ro<| B | 17
757 | —~< X%E100 100mg 100T RIERHE i 1
758 | —~ X %8200 200mg 100T ARIESIER 78 2
759 |V —< X €200 200mg n" 7 500T KRIEBLEE /|1
761 |BREEMg#EIER1mEg/mL 7 7 0.58) 20mL 10A | AIREE R |
762 |Va—70L Yy BEREESAF Y k 3.75mgINP] |3.75mg 1/ -7’ Fa 1
763 |V 2 —7"Y v F5FH1.88mg 1.88mg 1V HEERTE| 74 1
764 |V >0 vER0.1% 0.1% 100g BRI | 8 1
766 |V 70 vE2mg(0.4%) 2mg 0.bmL 10A EHRAE | B 1
67| >y7rovyaR-2EH - 2827%0.1% 0.1% 5mL 104 BFHRRE | 58 1
768 |U>7oOVGo7 U —L0.12% 0.12% bg 104 EHRAE | B 1
769 |V 7 A VGERE0.12% 0.12% 5g 10K BEREE | 8 | 17
770 (Y 7o >VGRA—> 3~ 0.12% 10mL 104 |1EEF&3E | 8 6
771 [+ ~LEEE$ELD 84%F it d i - !
772 )L+ ~NILEEE$EULD 6335F et d T
773 [)LiRy &7 R 25 25mg 100T VA ol 1
775 |)L— 5 v $Edmg 4mg 100T FE7r—~| % | 1
776 (L * vV X U HR1% 1% 100g I i 1
777 |LF¥ v & 58l 1mg 100T I 78 1
178 |HrL > H LR v AR F 1213 vy THETE| 58 | 3
T19|ILRXR&ZI>va—770—=L1% 1% 500g EA(] & 2
780 [L XY 5§25 25mg 100T FIVG/ v | FE 8
782 [+ = 5860mg 60mg 100T B—= | 8
783 @y 0= L EALYESER50me/5.0mITF][50mg 5ml 10V ErHETE FF [ 11
7841034 Ko7 U—L0.1% 0.1% bg 104 BEER 78 6
785 (A a4 RELEO0.1% 0.1% 5g 1074 BEEMR 7 | 18
788 |O X T v NAR 2mL 1F2-7 MSD il 1
789 |0 F " 4AKI10% 10% 100g LTL77—~| & | 1
790 |A E A > & F50mg 50mg bmL 10A RlAfSY 78 6
792 (A~ I /N B FEMAI0.05% 0.05% 100g vrer7r—%| 8 14
793 |AL T 7 Vi FESRImg 0.1% 1mL bA HEERTE| 7 1
794 |7 4 /%y 7 Z$80.5 0.5mg 100T 774 — | & 1
795 |7 dXF 2 I F0.5mg 0.05% 1mL 10A HMERTZE| 1
796 |7 aE & —ILAAKILG 15mg 501& = HELEE pig] 1
797 |7 a4 —ILAFIZ0 30mg 501E = B a1
798 |7 aE & — LAAKIB0 50mg 501& = HELEE piE] 1
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24 _ EE
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799 |7 o —JLA4AI100 100mg 501@ = HAER 78 1
800 |7 —77 U iElmg 1mg 100T T—H4 i 1
801|777 78€05ug 0.bugl100T BTATT7—~| M 3
803 | ZEFBEF MY 7 Lo HA-M] |[500g INRBUHR ic] 3
804 |7 O+ —tEFHOEN 60000E iz 10V FrHRSE 78 1
805 |# /) I T FEEdmg 4dmg 28%% BA -z4uu—| F§ | 1
806 | HXarv oy 7WRAEK2% 2% 300mL ¥y AERTE 8 2
807 |hF~A>h7+IL250mglRRAE] |10067 i MeijiSeika7 7 L~ | F§ 1
809 |4y —>Bavy 70.2% 1mL 503 —H4 ] 1
811 [ —1N1 w7 X 0.5mL 17 v59v-232254v | g 1
812 |V L FEERINATES T+ X FHI(EEA)N0.60(2.5g X 424] AN o1
813 |V L5 U5 T X EH (EEM)No0.71(2.5g x 4248 VL7 R
814 |V LS HBHRAELEEMG T ¥ REH(EER) |2.5g 428 Noll6 |V LT a1
815 |DTEw & 0.1ml 1K HA=Z8E| F5 2
8l6 |7 Y IR TEVY Y 0.5mL 1K HAU=Z8EK| 8 1
820 | X ar v &@meaEh0 10.55% 100mL 1A |/N4 ZLESR| (@ 1
821 |7 a7 LOFEARKRSME bmg 1ImL 4¥Yvy HEERTE| 7 1
822 |7 27 LAOEA®ET.5mg 75mg 1.5mL 185 4v0yy |RAEZTE| 548 | 1
823 |7 7 —IILNAREE250mg 100T BEFHRAE | 58 1
824 | ~FH v 7 ALI%ORAEEL? 27N X 5042 = A pic] 6
825 |[~F &ty o Z- MBS ES Y > 20.25mL [Y)yY 0.25mL 1A  |MSD = |
826 [~T &y o Z- N AKEBEES Y »205mL (Y)Y 0.5mL 14 MSD | 1
827 | A 7 F VIR AK L=y ;0.3mL 0.01%0.3mL 56f# |[ARIZRHLE 8 1
828 |V —X7 L v 7 AMESE 84T NATIILVESR| 8 1
829 |2/ 4 =—vxxxglakm—] 2.0g x42a IkERERSE| F|B | 1
830 |U R/XZ—)LaAv X ZEHFEA0Mg 1N 4T voerrr—<| 8 1
831 |V v B2 U 7 L3E20mEqF v F[FLE] [0.5E020mL X 10%y b [FILE a1
832 |F¥ v 7V FEK[86.2% 100g TRFIAEE| FF | 2
833 |L XX T 4 7E T EMA3.8mg 3.8mg 1N 471 HEERTE| f8 | 1
834 |4 #/21F300 20ml (5#R) NATIIVESR| 8 2
835 |1/ EX 7E300 10mL (5#K) NATIVER| 58 2
836 |F>OhA VFRUT71% SmLx10%& VN 8| 2
837 | N7 L) —EFHEA100mg IN AT worrvqryex| Fg |1
838 | X O L fUAEER0.5gl b —"7] |100 AT RIS | 9
839|747 VUAFHT7E/1L200mg 4047 vy G, N 7) |[MSD = 8
840 |14 > 7L VvHHAT 7 F »[KMB] |ImL x 2K Meijiseika” 7 L= | F§ | 83
842 |1 v 7V HHAT 7 F &AM [ImLx1n AT TRAT7ARE| Fy | 135
843 | A > 7T VYHHAT 7 F s VHAT[ImL X 22K M=% 5§ | 75
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Q44 |7 I—E v ZHAY U D (704 )0.5mL X IR |HB=2RE| 55 | 170
845 |7 L LEmEAHS50mMg 10N ATl svFa7r—<| 58 | 3
846 |7 2 / L/NVENEEAER 50g X 21833-t-Bk | KIKEEE a1
847 |7 2 / L/NVENEZAER 50g X 218 7h-y8k | KRIERELE B 1
848 |F o/ &Y iEmiIETEHI0.5% ~ —7]1[0.5% 100g BAE R /| 9
851 |V LT AZST ¥ XEEH(EEM) |2.5¢ 428 No.32 VL7 H
852 |4 733y b RI4vay 79HE250mg (608 Meijiseika7 7 1% | F§ | 8
856 |t 1 35 T E80mg Ny 0.8ml A &~ | 1
857 | RF3 — F20% 304 (31 X10) B B K M| 3
860 |73+ —EE100mgl b —7] [100mg 50mL 5V  |EMEER 1
861 | X /¢H —ILER40mg PTP100%z RERRTE| %8 | 8
862 |[FvEOOIVT T VH 500g = HEER |1
863 |/ ko #120% 100g/8 5 Tuzvoyzr—<| Fg | 1
864 |[E°~5 1) »NaEsH1gINIG ] 1g13h x 103K HAKRIE| 78 | 63
866 |\ R v-TT v IR 600g x 204 NG e S B | 1
867 | 7 E/NVEET.S (PTP)10%¢ x 10 Y/ 74 Bl 2
868 | =7 =Y EVEEIYIL/NT |10mg (PTP) 100%% ESIR RS a1
869 | 7L & —ILE20% 7 7% M100g RIRBLER 1
871 |[h > ENEEImgy ) v ImLx 1397y RIESIEE M| 3
873 |~ 4 ¥ —2 YU —10.05% bg X 104 AU=ZFuE| 57| | 1
874 | L7 PSS TF X ER(EREMA) [2.5gx 4258 VLT a1
875 |/ 1%/ »iEbmg (PTP)10%% x 10 T—HA fa | 1
876 | X7 7 — 7K T E4bmg> v 45mg 0.5mg 1¥)vy |ED=8E| 78 | 3
877 |V LSBT+ Xmu 2.5g x189% VL7 a2
878 | >y I/ TFiE2mg 1.5mLx 14 sronrizszr—< | 8 | 8
879 |L %7 1 OD$E0.5mg (PTP)10%% x 10 RERBLER o1
880 |71 k&Y ZEE0.03% /R 5g %10 < Lk Bl 1
881 |ZE MY X vge/NEBA2mMgl b—7] |(PTP)148E x 10 EAE S Bl 2
882 |7 U X iE/NBASmgl k—7] [(PTP)14%E x 10 B B 2
833 |5E FU X iE25mgl b —7 | (PTP)14%% x 10 A o1
884 |5E MY X 8E25mgl b —7 ] N 3100%% B | 8
835 |5 E FYU X 5e100mgl b —7 | (PTP)14%% x 10 A 1
886 |ZE FYU X 58100mgl b —7 | N 3100%% B | 5
887 [H I~ O —L5e2.5mgl DSEP| (PTP)10%% x 10 =4 | 24
888 |5 X LT F > 8E8mgl B T /1 (PTP)10%% x 10 HRARZTE| 78 | 3
889 |5 X LT F v 8E8mgl BH 7 /1] /N5 50088 HRARRTE| F8 | 6
890 |7z 7¥ vV 2%y FODE10mgl 47 4 | [(PTP)10%%E X 10 RFFBUE a1
891 |7z 7¥ v X%y FOD$E10mgl ¥ 7 1 ] [/NZ200%% RFFELER /| 1
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240 B | TE
=s T 2 R 1% A —h— ==K iy) =
892 LR AL =F »FFRA®RLI0%I b —7 ] [100mL[#E] RS & | 18
893 |[LARAL=F > FFRAKEL0% F—71535mL [5mL X 103 A 8 | 420
894 [LAAL=F L FFRAEL0%[ k—7]9a10mL [10mL x 103 ERAE S #8 | 300
895 | A>T Y& ODFEdmgl b—7 1 [(PTP)10%E x 10 BRI piE] 1
896 |7'U XY KOD$Elmgl b —7 ] (PTP)10%%€ x 10 RAE S 78 5
897 [LRF Tt & Lgg250mgl b —7 | (PTP)10%E x 10 BRI pic] o)
898 |L RF Tt & L5e250mgl k —7 ] N 7300%F ERAE S 78 1
899 [L RF T+t & LgEs00mgl kb —7 | (PTP)10%E x 10 BRI pic] 1
900 |L RF T+ & Lge500mgl b —7 | N 7300%F ERAES 78 1
902 |+ 7 > &> 0D#Ebmgl b —7 | (PTP)10%E x 10 BRI piE] 1
903 |# 7 > &> 0DsEbmgl k—7 | N 7300%€ ERAE S 78 2
904 [V LT LiBEREEEODIES Mgl b —71|(PTP)10%E x 10 BRI ic] 3
905 [TV — FOKMEREE EY > |0.bmLIFEX1H MSD ] 12
906 | 7 # > — HEEOME 108€ x 10 INEFEB T 5
907 |@ RN & F>0Dfe2.5mgl b —7] |(PTP)10%E x 10 ERAES 78 2
908 |F A/NE YV ARE®KN1% Y>> K] |01%ImL 5mLx10M|H > K 8| 6
909 | EXA XY v R&®&50ugl M) 56"E5EF |5mgl0glih x b#f,  |#=-v>uxs«x| 8 | 8
910 |V a®'> 2V v a@esEA12800 12,800E 17 1# |Bim77r—~| F& 1
911 [RH~F 2 2&EH200mg> U v PTw 4] [2mL x 107)yy AR 8| 6
912 |7 XA & V& FR1g 1g x 10N AT7h rrzvysrr—~| F8 | 33
913 |7> 7 0%y —LigmiEDS/NERA15% 2 5 41 (100g/8 = HREE 8 | 18
914 | A>T H & >0DsEdmgl b—71 (3008 7 BRI pic] 2
916 |77 O EIILEELS% b —7 | bg x 10[Fa1-7" ] ERAE S #a 2
917 |»¥OF+F > 0OD#El0mgl k —7 | (PTP)10%E x 10 AR ic] 1
918 |7 ¥ ¥ — M ESFHE3.3mg ImL:107v7 EraETEl B | 1
919 |[RFE & 2R F > R ILEEODIEI0Mg 4 7 4 ] |(PTP)10%E % 10 RFFEIEE /|1
920 |7 7 v T RAEERI T ¥ X35F 252%%(18 x 14) g7 IES| 1
921 |77 U 7K FE60mg> V) v JUyy ImL 1A F—=% pic] 2
923 | &2 Y > 0OD$ELSmegl 7 A | (PTP)10%E x 10 IR B 78 1
924 |V L Z HEEE RS T F RN (EEA) [2.5g x 428 N | 6
925 | X F a/N— )L EHNH&RS500ug 108 T—H4 78 1
926 | KRRy R EUE 30g[14] LA 77—~ | f8 | 8
927 |A L2 TV FiE2mg (PTP)78E x 4 Br -74vu—| F§ | 9
928 |4 7% LJL FOD%El5mg (PTP)10%E x 10 NATIIVESR| 8 1
9029 |2 — /XX REKE 500¢g TA4HEE | 58 1
930 |V L Z/NEFRST ¥ R R (EREA) [2.5g%x 844 VL7 R
931 |7EFT U »H T IIL250mgl TCK] [(PTP)10%E x 10 REAF a1
932 [ L%y b SEEHE100mg SN AT B— =3k a1
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933 (mrFr>oy 7% 500mL[#Rk ] 77AY— | f& 1
934 |7 22 X7 Y R§E0.5mgAVIBEE ] PTP30%E MeijiSeika7 7 L~ | g 12
935 ([I—E v yKM4EREE v Y)vy 0.5mL:14 M=% 1
936 [N Z 2NV ZKERREFES ) ¥ [Py 0.5mLIIA MSD /B 2
7 |1AXFT48E>Y 212U ER [Yryy 0.3mL: 104 77 A Y= 78 6
938 |4 > F 2 =7 5€lmg (PTP)100%% HEERTEl /8 | 47
939 |BEERFRSAFARIS %[ / — L ] N 750g x 13 J—snzr—~| g | 42
940 | 77 /XX &ZF > Nagebmgl +—/~7 ] |bmg/$e PTP1008E | KRERIXE| 1
941 |# 5 * ¥+ H1E%OREEM 7 71 o — & —25ml | 25ml X 304 KRB M| 1
942 |ErEEEsAEE25mgl / — UL | (PTP)10%% x 10 /—~snzry-<| 8 | 5
943 | R E K> a— FEHRI0% 7 > T—] [250ml GuRY)  [fERsEsE | & | 23
944 | 7'V 4 ET7 7 bEE25mg (PTP)10%E x 10 a1-v—e-vesv| FG 1
945 |7V 4 77 F$E50mg (PTP)10%E x 10 1-v—e-ver| Fg 1
946 |nt74vEHER0.5¢ 10N ATl KE77L~<| % | 5
947 |A+& 7 1« vETH1g 1 0/"4 7L K7 7L< | %8 3
948 |E4 R U —EZAODSR (PTP)21%€ x 30 BEESR a1
949 |EH 7V N = > iEsesmglJG]  [(PTP)108E x 10 BAYzxUvs| | 1
950 | X F 3 v $€40mgl 7/ — | (PTP)10%E x 10 HREERTHE| B 1
951 |U~7RAR b 7LT7 7T 255 uglBET]|1008E/N & HETL ) 1
952 | L X HOD%E7.5mg (PTP)10%E x 2 RIRBLEL pic] 1
953 |7 7 7 OJLHAKI20%[ HET | /N7100g HEL ] 2
954 | 7L K X v +$8125 (PTP)10%E x 50 ssovr-renE| F |1
955 |77 K +8€30mg (PTP)10%E x 10 =70 78 1
956 [7 )L &4 F1007 4 R AR 607 Yr4-x 1 759222754~ | @ 1
957 |E> /=2 270;F100mL RAN P~ GEnrzr77r—v | F8 1
958 |& FCRHEEA100ugl =70 100 g1 4A70] —70 |1
959 (B /N H A IEEEIE0.75%E75mg/10ml |10mI X 10 FILE 78| 6
960 | /Y4 o U iERIEIRS0mgl b —7 ] |108€ x 10 BRI ] 1

23/24




24 _ | FE
=2 T 2 R 1% A—F— ==K (v =
961 |7 LR+ —2 0 kMBHEFE 19y 05mL1AR  |Z7748— | K| 1
962 |UZ~U K>0D80. 5mg [7x.] |PTP10035E HMERTHE| 58 | 5
963 |UZ~U R>OD$0. 5mg [7X4.L] N 750035E HAERZTE| 78 | 2
964 [U XY RK>ODgE1Img [7X/L] [PTP100%E HMERTE| & 9
965 |UZ~RY KF>OD#E1Img [7X] [N 350088 HAMERTE| 5 | 1
966 |U X ~_RY KUk 1% [ b—"7 ] N 7100g AR ic] 2
967 |EH U Ko T vBIE 1% [HET] |~ 7100¢g HETL 78 25
968 |TF+ 77U vL A vEBEsE5me [F—7] [PTP(100%%) BRI 7| 11
969 |m~5 3 RiEEsEH 7t 1meg (4741 [PTP(10047 t1) RFFBUEE B | 1
970 |7 FEFtFv8Ebmg [+F—7] |PTP(70%%) BMES = |
971 |7 hEFEF 881 0mg [+F—7] [PTP(70%%) ERAEE M a1
972 |7 hEFEF8E25mg [h—7] |PTP(70%%) ERAIEE M 1
973 |7HtE I F$E20mg NP PTP(100%€) =70 i) 8
974 |70t I F$E20mg NP N 7500%€ =70 fa | 1
975 |5>v 75/ —1L0Dsel5mg [®EF/x] |PTP(100%%) HEERTE| 5 5
976 [5>v 75V —10Ds15mg [REF~] |N 72004F HAESTEl & | 8
977(m>4%4>>0D$E10mg 74 |PTP(100%%) IRFFBLER o] 1
978 [LRFZ5t2LDS50% [H74] [N 37100g RFFBIEE fa | 1
979 |7z B I 75 0mg N 7500%¢ T—H4 78 1
980 |t X > F—ILEE2 5mg N 71000%E F—=1 piE] 1
981 |UHKRFYU—JLEEO. 5mg N 71000%€ K7 7= | 1
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